
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/OCT 22/1 All prices exclude GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Postion 
Part  

Number Qty Description 
List 

price 

01a 8917 1 Pump Body B2KQ-A/ST  $922 

01b 8923 1 Valve B2KQ-A/ST  $212 

01c 8929 1 Inspection Door  $84 

01d 6012 1 COMPLETE Check Valve $37 

01e 8935 1 Gasket Inspect. Door  $24 

01f 6186 1 Flex. Washer 33x39x2  $3 

01g 6213 1 Conical Tap 1” Gas  $8 

01h 6209 1 Conical Tap ¼” Gas  $7 

01i 6236 4 Hex. Head Screw M10x20  $3 

01l 8976 2 Grub Screw M10x50  $12 

01m 8975 2 Complete Pin M10  $58 

01n 8185 4 Torque Nut M5 A2  $5 

01p H910 1 Complete Wear Disc kit  $69 

02 9471 1 Impeller 3-Blades  $321 

03a 9141 1 Bracket B 2612  $298 

03b 9140 1 Shaft B 2611/1  $342 

03c 5465 2 Bearing 6204 2RS  $44 

03d 5452 1 Snap Ring I 47  $8 

B2KQ-A/ST “w”  with or without pulley 
Cat AS79 

H910 

Postion 
Part  

Number Qty Description 
List 

price 

04 6349 1 Counterface 21-42-8 NBR $22 

04 6350 1 Counterface 21-42-8 Widia/NBR $254 

05 9075 1 Mech. Seal 19-39-13 Silicon Carbide $278 

05 6338 1 Mech. Seal 19-39-13 Tungsten $274 

06 6029 1 Flex. Gasket B 2618  $9 

07 6323 1 Key B 4x4x15  $6 

08 9159 1 Seal Ring 19x31x3  $19 

09 6177 1 Washer 12x23x2  $2 

10 F476  1 Nut M12x1.75  $15 

11 6235 4 T.E. Screw M 10x18  $3 


